Start	Sem. 2	2021-22							
College Now									
Course	College	Similar Course at Shiocton HS	H.S. Credit	College Credit	Cost	Number of Students	Total Cost	Paid By	Approved
Human Relations	FVTC	None	0.5	2.0	\$330	1	\$330	District	х
Intro to Ethics	FVTC	None	1.0	3.0	\$495	3	\$1485	District	х
Intro to Diversity Studies	NWTC	None	1.0	3.0	\$495	6	\$2,970	District	х
College 101	NWTC	None	0.5	1.0	\$165	2	\$330	District	х
Intro to Entrepreneurship	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Entrepreneur Thinking	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Nutritional Health	NWTC	None	1.0	3.0	\$495	1	\$495	District	х
Math w. Business Apps	NWTC	None	1.0	3.0	\$495	2	\$990	District	x
Intro to Sociology	FVTC	None	1.0	3.0	\$495	3	\$1485	District	х
Economics	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Psychology of Human Relations	FVTC	None	1.0	3.0	\$495	2	\$990	District	х
Math & Logic	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
College Mathematics	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Intro to Web Graphics	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
C# Intro to Programming	FVTC	None	1.0	3.0	\$495	1	\$495	District	х

Crop Scouting	FVTC	None	1.0	3.0	\$495	1	\$495	District	x
Training	1 1 1 1 2	None	1.0	3.0	7-33	*	7-23	District	^
Dairy/Livestock Nutrition	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Crop Science	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Intro to Agribusiness	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Intro to Forensic Science	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Medical Terminology	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Human Diseases	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Spanish 1 for Health Care	FVTC	None	1.0	3.0	\$495	1	\$495	District	х
Number of students requesting:	18					Total Approved:	\$16,500		

Early College Credit Program					Cost	Number of Students	Total Cost	Paid by	Approved
Human Development 265	UWSP	None	1.0	3.0	\$825	1	\$825	District	х
Geography 105	UWSP	None	1.0	3.0	\$825	1	\$825	District	х
Contemporary Nutrition	USWP	None	1.0	3.0	\$825	2	\$1650	District	х
The Art & Science of Human Flourishing	UW-Madison	None	1.0	3.0	\$825	1	\$825	District	х
People, Resources & Biosphere	UWSP	None	1.0	3.0	\$825	1	\$825	District	х
Cultural Diversity in Health Care	UW-Milw	None	1.0	3.0	\$825	1	\$825	District	х
Perspectives on HealthCare	UW-Milw	None	0.5	2.0	\$825	1	\$825	District	х
Human Growth & Dev	UW-Milw	None	1.0	4.0	\$825	1	\$825	District	x
Intro to Sociology	UW-Oshkosh	None	1.0	3.0	\$825	1	\$825	District	х
Intro to the Visual Arts	UWSP	None	1.0	3.0	\$825	1	\$825	District	x
Intro to Nutrient Metabolism	UWSP	None	1.0	3.0	\$825	1	\$825	District	х
Intro to Professions in Dietetics	UWSP	None	1.0	3.0	\$825	1	\$825	District	х
Introductory Foods	UWSP	None	1.0	3.0	\$825	1	\$825	District	x
Number of students requesting:	7				* A portion of ECCP expense	Total Approved:	<mark>\$11,550</mark>		
. 3					is paid by the state				

Distance Learning								
American Sign Lang 2	NWTC	None	1.0	3.0	\$425	4	\$1,700	
Website Coding	NWTC	None	1.0	3.0	\$425	1	\$425	
Diversity Studies	NWTC	None	1.0	3.0	\$425	8	\$3,400	
Number of Students Requesting:	13					Total Approved:	\$5,525	